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Instructions :-

TP U W 4 36 uiRa g1 (Trss M1 120 71<1)

e All questions are compulsory to attempt
e Q. No. I to 5 are Objective type questions

e Each question cary 1 mark.

¢ Internal choices are given for Q. No. 6 to 20.

e Q. No. 6to 12 total 7 question.

e FEach question carry 2 marks (word limit 30 words)
e Q. No. 13 to 16 total 4 question.

e FEach question carry 3 marks (word limit 75 words)
e Q. No. 17 to 20 total 4 question.

e Each question carry 4 marks (word limit 120 words)
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Q. 1 Choose and write correct option —

(1) Soda Water is —

(a) Liquid in Liquid (b) Gas in Liquid
(c) Liquid in Gas (d) Solid in Liquid

(1) Carbolic acid is —

(a) Methanol (b) Phenol
(c) Ethanol (d) Ether

(i11) Unit of rate consant for first order reaction —

(@) Mol L! Sec™! (b) Sec!
(c) L Mol Sec (d) L?> Mol? Sec!

(iv) Which of the following can be prepared by Stephen Reaction —

(a) Ketone (b) Amin
(c) Aldehyde (d) Caboxilic Acid

(v) Nitrogen atom in Amine is hybridised —

(a) SP (b) SP?
(c) SP° (d) SP3d

(vi) Chemically all enezymes are —

(a) Amino acid (b) Protien
(c) Polypeptide (d) Amide



geq —2 Rad o &1 gfed sifoy — 1x6=6
O IS £ =) < [ | Bl B

(i) SOR®, INERG BT ABIT HAT BT o PR A B |

(i)  IRER (Hg—80) oo BT Ao BT TA 2 |

(v) WHETA TehIETA B STUET ..o 3T BI B |

) R-NH»+CHCli+3KOH —>. . ... +3KCl + 2H,0

(Vi) I RIGER EET BT oo PE T |

Fill in the blanks -

(1)  Molality of Water 1S ...

(11)  Catalyst ..o, activation energy of reactant.

(i11) Mercury (Hg—80) is the element of ..o transition series.
(iv)  Phenol 1S . acidic than Alcohol.

(v)  R-NHz+CHCl3 + 3KOH oo +3KCl + 2H,0

(vi) Ammonical Silver Nitrate is called ..., :



U -8 /34l IfRay — Ix6=6

(i) FARBE IR THIEH &7 FAsor anesl faeas 2|
(i) I AT TAMEG Tl BT ISR B |
(iii) EFrenfes & S arg WA drer (Fe) 2 |

(iv) Mn*? sr[gWag 2@gR <90idT ¢ |

(v) vfeesre 3R PieH dEifHd AfTe B |

(vi) urrfies Tepigd SifaiIdHRT IR Ufesere a9 & |

Write True / False -

(1) The Mixture of Chloroform and acetone is an ideal solution.

(11) Dry cell is an example of primary cell.

(i11) Central Metal Atom of Heamoglobin is Iron (Fe).

(iv) Mn*? shows paramagnetic behaviour.

(v) Aldehyde and Ketone are Carbonyl Compounds.

(vi) Primary alcohol gives aldehyde on partial oxidation.



TR —4 HE! ST q1hR oy — 1x5=5
(i) IR (a) e ey

(i) fefE By, (b) Ce¢Hs-N=N-Cl

(i) R (c) ¥gd TR e

(iv) srvenfEd e (d) e gmEE

(v)  wefe faee (e) gwYcifien gl

() o
Match & Write -
(1)  Corrosion (a)  Red Precipitate
(1)  Vitamin B, (b) Ce¢Hs-N=N-CI
(i11) Testosterone (c)  Electro Chemical Phenomenon
(iv) Diazonium Salt (d) Female Sex Harmone
(v)  Fehling Solution (e) Male Sex Harmone

(f) Cobalt



g —5 TP e /T H Sk feRau — 1x5=5

(i) g eI smEcy & A ReRid @1 ToMT & G foiRay |

(i) [Co (NHj)s SO4] Br wa [Co (NH3)s Br] SOy % uril Sie drell \H1agdd
&1 A IRy |

(ili) 919 SHTSITH FARSS iR BIATel & Aed 819 drell JfAfBAT &1 AW
TRy |

(iv) 7@ 3R Bae # faug &= arel fohatad |HE & T forRag |

(v) fou e\ & &0 9 999 § g9 aFar 9 A 8l ol 82

Write answer in one word / sentence.

(1)  Write the formula of calculating dissociation constant for weak
electrolyte.

(i1))  Write the name of isomerism shown by [Co (NH3)s SO4] Br ta
[CO (NH3)5 BI‘] SO4

(i11) Name the reaction occurs between Benzenediazonium Chloride
and Phenol.

(iv)  Write the functional group which differenciates glucose and
fructose.

(v)  Due to deficiency of which Vitamin infertility occurs in human
being?



U1 —6

URq —7

_8_

aA+bB — 5 mM+nN 2 Mark
Tt IrfAfhaT & oy 208K AT TR A=ic IHIHIUT fIlRay |

Write the Nernst equation at 298K temprature for cell reaction
aA+bB — » mM+nN

3 qdar / or

dlg W S & @ fhar § g9 arell 9gd R JHIeRT forlkag |

Write the Electro Chemical equation for the reaction that occurs
in rusting of Iron.

for=r srfaforarett & ford sifafshar dife sma #ifvT — 2 Mark
(i) 3NO(g) — N20(g) a7 =K (NO)?
(i) C.HsCl(g) —» CoH4 (g) + HCI 7. = K (C2H5Cl)

Determine the order of reaction for the following reaction -

(i) 3NO(g) — N2O(g) Rate = K (NO)?
(11) C,H;5Cl (g) —» CoHy4 (g) + HCI Rate = K (CszC])
3qdr / or

feforRaa O ReRrie A aifafshar dife @1 ygam difoy —

(i) K=23X10" LMol Sec!

(i) K=3X10" Sec’

Identify the order of reaction with the help of rate constant.
(i) K=23X107LMol! Sec'!

(i) K=3X10" Sec!



g —8  3d - dHHur 9o & T B oy I seideT=e faar 2 Mark
ferRag |

Write the general electronic configuration for element of 3d -
transition series.

3 qdar / or

Af - JrfaR FhHUT JoN & foTv IR AT SoldeT=ie fa=am

oY |
Write the general electronic configuration for 4f - inner transition
series.
ged —9 Aghd AIMhl & oy gRATT BTy — 2 Mark
(a) SuAEHAIIS & (b) ferivs

Define for complex compounds -

(a) Co-ordination sphere (b) Ligand
3qdar / or
SugsddIol Afel & ford aRwIiia SIfsg —
(a) SUFETEIISTT AT (b)  ifeATHRUT =]

Define for co-ordinate compounds -

(a) Co-ordination Number (b)  Oxidation Number



N ON (N

ge —10 frefaRad A aifrel & g3 fafey — 2 Mark

(a) TRIUAN DlaTee (I1I) FARSS
(b) Ul TaarEAS! Hee (1)

Write the formula of following co-ordination compounds -

(a) Hexaamine Cobalt (111) Chloride

(b) Potassium Hexacynidoferrate (III)

3qdar / or

fr=forRad wewash Afret & [UPAC = faRay —

(@) Ky[Zn(OH)4] (b) [Co(en);]Cls

Write the IUPAC name of the following Co-ordinate Compound -

(@) Ky[Zn(OH)4] (b) [Co(en);]Cl;
geq —11  AMfhAT goi SHIfsy — 2 Mark
(a) (CH;3);-C-Br+KOH_ ™ [ .. F e e
il
(b) C3H5 -O- Na + CszCl %ﬂ, ................ o T

Complete the reaction -

(a) (CH3)3 -C-Br+ KOHﬂ, ................ s R F o,
T

(b) C3H5 -O- Na + CszCl = B e o L
©R



FIT BT 8 9 — (badl TAFTD FHIDHRO)

() I R o SURART F A=, FNREH & forar w=ar g 2

(i) A @ o, Ersge grss v (HBr) & @ Wil © 2

What happened when - (Only Chemical Reaction)
(1)  Bromobenzene reacts with Magnesium in presence of the Ether ?

(1)  Propene is treated with Hydrogen Bromide (HBr) acid ?

U3 —12 31F] THIgS TR S Slol 3R BIfcd qIerer & A1 819 dreil srfafshar 2 Mark
BT ¥ Td FHIHR0T fIRay |
9 3AMATHAT BT IUANT Brafid AfTDT BT Ao & sreRIgor § fbar ram 2 |

Write the name and equation of the reaction of Acid amide and
Bromine water with Castic Potash.

This reaction is used for the degradation of series of organic
compound.

3qdar / or

U FIRTgS &1 Uobiaferd NHz & 911 819 drell ififshar & o vamafes
REICRURNIECIE

Write the chemical equation for the reaction of Ethyl Chloride with
Alcoholic NHj3

UeT —13  JAMAHAT B HIfe T JuIfdddr H dlg T Ifax forlRgu | 3 Mark

Write any three differences between order of reaction and
molecularity.

3qdar / or



SfATHAT BT X T X ReRrie & Big I idr forRau |

Write any three differences between Rate of Reaction and
Rate Constant.

3T —14 TGhqoT dod gRad iTRfIeRoT Jraver god & | aaf ? 3 Mark
39 ded o1 8 folRaw o 3d 9N § Soaaq sifRiiaRor 3ravern <9iar 2 |

Transition element shows variable oxidation state, Why ?

Write name the element which shows maximum oxidation state
in 3d series.

3qdar / or

HHAY Tl & FREDII 0T BT MR Y fHar smar & 2
gegd f Cr -24 (@ifgw) @1 U§fa g & a1 uikgeEa |

How magnetic property of transition element is determined?

Show that Cr -24 (Chromium) is paramagnetic or diamagnetic
in nature.

geT —15 Al 9 DA U HRAT — 3 Mark

(a) MIPRE ot (b) i (c) it

How will be obtain from Phenol -

(a) Picric Acid (b) Benzene (c) Benzoquinone

3 qdar / or

faferra s Fearyor gRT $2R 99 @1 fafy &1 Yarafae gHieRer flRay |

Write the chemical equation to prepare Ether by Williumson Synthesis.



U1 —16

URq —17

U1 —18

RNA @ DNA % &g @9 3R ferfag |

Write any three difference between RNA and DNA.
3qdar / or

MATBR WIS Ud WeER U H 9 iR fafay |

Write any three difference between Globular Protien and Fibrous
Protien.

() srarweie fae gaa Ao & forl e &1 oM foriag |

(b) amreel fIer vd e faedd &1 dH—dF faRivan faRag |

(a) State Raults Law for solution containing non-volatile solute.

(b) Write 3-3 features of Ideal Solution and Non-ideal Solution.

3 qdar / or

=dl § I @Y faear & dey § 8 &1 e falRaw gen <fe Shaw #
T & I & <1 Ty forfay |

State Henry's Law for solubility of gases in liquids and write two
applications of Henry's Law in daily life.

wETferd Tl H UYgdd B4 Tl fgciiad dal &1 o Sy —

(a) g SUBRUT TG HTh

(b) PRI Ud GARTIRM BT RIS FHIBROT

3 Mark

4 Mark

4 Mark



Describe the Secondary Cell used in automobile vehical -
(a) Apparatus and Component

(b) Chemical equation of discharging and recharging.

3qdar / or

Hed A & WU H UGS AD Bl SIoT Seldals Bl auis BHIfoTg |

(a) SUBRYT BT AHIfDL =

(b) YIS FHIBROT

(¢) fawa &1 A9

Describe the Standard Hydrogen electrods used as reference cell
(a) Labelled diagram of apparatus
(b)  Chemical Reaction

(c)  Value of Potential Difference

ged —19 fgamofdes fiewEr ufoRemus sifafian & fharfafr & 9 Jgayol 4 Mark

g vd ve Iuged Sarerv faRay |

Write an appropriate example and three main features of
Bimoliculer Nucleophillic substitution reaction mechanism.

3qdar / or

hHad RIS FHIHRT fRay —
(a) gt arfafepar (b) wddvs AfAfkaT
(c)  ffe srfaferar (d) s srfafear

Write only chemical equation -

(a)  Wurtz Reaction (b)  Frenkland Reaction

(c) Fitting Reaction (d)  Swartz Reaction



7T —20 T BIAT § ofd — 4 Mark

(a) Ufewra AEARS & g=dd SnCl, + HCI gRT <1if¥d w4 9 giar 8
TqAT STt YT W IUTE 1T 2 |

(b) TSNS Tedbledd &I 573K ™ W Cu el ¥ Yarzd far S = |

(c) wrieeerse & Wig NaOH faees & Ay sifiad fasar S = |

(d) v 3 & P,Os @ SulRefa # 7+ far Siar 2 |

What happens when -

(@)  Alkyl Cynide is partialy reduced by SnCl, + HCI and produces
on hydrolysis.

(b)  Iso Propyl Alcohol is passed over Cu tube at 573K temprature.

(c)  Farmalehyde is treated with Conc. NaOH solution.

(d)  Ethanoic acid is heated in presence of P,Os,

3qdar / or

UosTel AU Ud g Tcsld G-+ Bl AR FHIARoT dfed
o %EIQ I

Write Aldol Condensation and Cross Aldol Condensation
with chemical equation.



